NCIE#MT—71b
NC ROTARY Jts Tilting Rotary Table
HKTWIHBERIA ML — 24T TT,

#TW is the side motor type tilting table

BEBRIREDAZ 42— F SEMIMERZ21 7
High stability tilting table to suit 5 axis machining

@HE T/ \ 1 FOT—A2WE T
IIARBLANIVDEI TV TMIVY
Built in air hydraulic boosters deliver high clamping torque
on both axes

@1>/\7 hE&&t Compact design

@ =% [ElEx High speed rotation

@= [ High rigidity

@) A RUO—R)I 3V e (F7232) T
VTV CHRRGD TR
Built-in rotary joint (option) allows simple and secure jig
piping
HEY SV T ARXISHEY > Ttk IR 8
Air-hydraulic boosteror direct hydraulic clamping options available

* CEXfIG A CE correspondence

QBTN O LR TIE BEBZEESDRIREIDCIAD (8) |ITEZHY HHEmE Eﬁtiff%.—:)f‘“{o
BUETOTIBNMCBHEN BB A BEELEOHAINRETT, Image for illustrative purposes only.
*In specification with the foreign trade control ordinance, permission of the ATO=)VF vy 734 T3

A scroll chuck is opptional.

ministry of economy, trade and industry is required when exporting twin axis
products overseas.

- I :“ ~ [—] N ~ $WJEEL;TT182?_§-O
A 9 J/H'f./ b?ﬂéwﬁ (71-7/3/) Em;ﬁ] . These example photos are
Complete built-in rotary joint (option) Sample Application of TT182.
O=EELSHMNTIICE
WG CTEELT

Provided for high accuracy
5-axis machining.

OKITAGAWAEH5TES

FrvIlEhERR

T—IR—=IVT1 7%
. : EhETTHEHRCETL

Only Kitagawa can offer this
combination of NC Rotary Table
and chuck

REAE
ipewor
v

OO—2) I3V IREAR +7va) T
IV TIVTHRG YV EEERE
Simplified pipework with complete built-in ratary joint (option)




(ditagawa

{hngh{t#% additional axis specifications

TW 182 B * R %%

M{SS{t# M signal specifications

TW 182 BV R #x%

T4 X
Table Size
182

wiE

Type

Tilting straight type

TW: %X L—r210F 27> 7AH Clamping method

B : Z=HME(REIT/\M FOT—R%)
Air-Hydraulic (Built-in air hydraulic booster)
H : E[E Hydraulic

T syrvms F—TIWHAX FHAVES
T4 Design No. Table Size Design No.
Motor type 182 7472 3 /11#% Option spec.
#7< a4t#xk Option spec. R:A—%1)Y31 Rotary joint

R:O—%1J 34> Rotary joint
C:5MEB 1) >4 Outer cylinder 7@
— 17472 3L Non-option  Type

TW BRR L — k21T 7577 AR Clamping method
Tilting straight type

C 5B >4 Outer cylinder
—: #4723 #&L Non- option
Quinteft#% Quinte specification

B : ZEHE (MEI7/\A FOT—2%)
Air-Hydraulic (Built-in air hydraulic booster)
H : SBE Hydraulic

B {1#% Specifications

ERIBEE Tilting angle range —35°~+110°
T—7IVE1E Table dia (mm) »180
T—7IVEHETVZE Centre hole dia (mm) $65H7
7—7)VEiB7\4& Through hole dia (mm) 040
|EBFtZ>2/\1 & Centre height (mm) 180
25> 773 Clamping method Ze3ME/SBE Air-Hydraulic/Hydraulic
957 ML (2 0.5MPa/5HE3.5MPaks) | E1EE#A Rotating axis 450
Clamping torque(at preumatic 0 SMParhycraulic3 WP Nm) | g4k Tilting axis 800
E—AERESF— [El#R#H Rotating axis 0.000242
Motor axis reduced inertia(kg-m?2) | {&E&34 Tilting axis 0.000135
H—RE—%2 (FANUC {1#R®D35S) Servomotor (for FANUC specification) aiF 2/5000-B
o . . [El%5%H Rotating axis 1/90
K Lk Total reduction ratio 1B Tilting axis 1180
FANUC {+#% [z (min~'/E—43000min-"E§) Rotating axis{min-/at motor 3000min-1) 33.3
F—7) Eames | for FANUCspecification | g8 (in"/E~3000min"E) Titing axsfmin-at motor 3000min-) 16.6
Max. rotation speed | \f= g4 4 IE85 (min"/E—23000min™#5) Rotating axi(min-1/at motor 3000min-) 333
for M signal specification | g8 (min-'/£~43000min"%) Titing axismin-!/atmotor 3000min-] 16.6

SFRT—21F—+ Allowable work inertia(kg-m2) 0.25
ZIHF5EE Indexing accuracy (sec) Ei;:: $::;c;na<_:jx?:(|s zg
FBIRFEE Repeatability (sec) 4

SR EE Mass of product (kg) 163/178

RJ40FTT182

WER—2UTY a1k #7vay-P2as@
Buit-in rotary joint (Option-P121 reference)

SHE/ZEEAR— b+ ZEEEAETR—F
Hydraulic/Pneumatic 4-port + Exclusive Pneumatic 1-port of air

ZEESNERD ) 4 (47737 - P665ER) Pneumatic outer cylinder(Option-P66 reference) NY1312T18B
SHESVER 1) >4 (4773 - P6628) Hydraulic outer cylinder(Option-P66 reference) NY0912T18A
B (kg) @ 60
E‘F'@ﬁﬁg% . at horizontal
Allowable mass of workpiece 1ERIBS (kg) 20
at tilted (ﬁ
F (kN) @ 5
HFAREE
(F=TIWT5TH) FXL (N-m) 800
Allowable load
(When clamped to table)
FXL (N-m) i 450
SFAYIEINIVY T(N-m)
(T4 —LFT58E) A 250
Allowable cutting torque
(Worm gear strength)
TERIATIRE —4 >/ b WXL (N-m) : 18
Moment of tilting weight capacity L ’

) LESRREEAAA Y FIENCT —7J)LDTC- DM
FEO S TR VLA RNV T ZRBLTOE e 0T BFRICTTERTEL,

BEHMES R OEETY,

LREFR< 2> ) —XICHBLTVET,

2IBREY SV THRDB S TS TRY /A RV T IEREILTOE T,
ANCT =TIV E THFER EDRID T —T IVRUF—RIIBLTE Y FE A, SERERIE

3.0

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM/LR of NC tables. 2. In case of air + hyd. clamp specification, the solenoid valve for table clamp
is incorporated. 3. In a hyd. clamp spec., the solenoid valve is not incorporated. Consequently, customer shall prepare it. 4. Neither cable nor hose is fitted between NC rotary
table and machine tool. 5. Each product mass is determined by a Kitagawa M signal spec.




TW182

W~F%E [{3hn#h1t4#%] Dimensions [additional axis specifications)

TW182

Rc1/4

V577 FHEHEO

Hydraulic port for clamp $65H7 SARIVE
S Hex bolt
CHRELHRES) ol 3-M6 #52
(at hydraulic spec.) - 7—7)V.EE M16X65
T o |/ Table surface  St.17
— ~ [ 0 45
s 3 o 9 @ k| o o
: AR 8 g | 840 j? @
e S ||| ewme i
L INT oL 8 Ly Anras
40H8 @ [=]
1 | _1#50 28.5
F7va Rc1/475f/7’ﬁﬁ¥}ﬂ%ﬁl] 110[120, TF—2IVE@I k1!
A—2UYaA~t Pneumatic port for clamp 4l Through Hole Diameter Clamping Parts
Option (T77-254H#58) | [
Rotary Joint (at spec. of air booster) =il | 12
[T —
= = === I P il o
0| L] 0 o -
8 g M l@ I I g 5@
sl T
il ° Tl | LA_l
<l <l ey ‘
196 | 131 115115 T—IITiE
102] 198 237 327 230 246 Table T-slot Grooves
864 128 361
489

*E—2DERICKINETENEDLZETREED BT,
*The dimensions may vary from motor to motor that is mounted.

W~F%R [M{E8114#%] Dimensions [M signal specifications]

TW182

Rcl/4
95> 7 FRAESHRO ¢65H7 F—ILtm
Hydraulic port for clamp 3-M6 |¢52,| Tablesurface
CHERRE) /
(at hydraulic spec.) ﬁ ul\)’ = |
I 150 ) |
g g g 40
= ¢ © . g o l o6
. o o . STEREE
2 ° o h & L 1
% ] !o@ o & In S 40H8
$50
Rc1/4 . N
ATvav 45 TRZEEMHD 77 VB
O—4&UYa1>k  Pneumatic port for clamp 1101120 Through Hole Diameter
Option (T7) FO7-R4ttiss) | . 8[180
Rotary Joint at spec. of air-hydraulic booster) || |
<
S N %, f— @
wl TTTw ff—1—
@ @
N2 3 o
T % alrfiskak! w
| & jasn7 <
196 131 115] 115
43 198 237 32 230 172
805 128 287
415

NARIVE
Hex bolt
M16X 65

St.17,

Jini}

24 ! 48 T
28.5@:1;8

IS5 T8EE

Clamping Parts

i

k=

19111\

2

F—JITE
Table T-slot Grooves




(ditagawa

W~1EE [f4hn#h{E4#%] Dimensions [additional axis specifications]
TW182 (Z=ENEBY) 4 {1#%] [Pneumatic outer cylinder spec.]

{ERdEhO $65H7 7)1t N
it h ARV
Tilting axis centre $40.5 Table surface I/-I\e%bolt

M16X65

St17.,, 45
m.j—f
o
{39}

131
T

MIN.84
MAX.96

v
o |

. : /
) o 2
& N [0 #:
N p—
_ o R -
o 5 & % J—% o) " %ol |
T = ; T o @
’I ”" ”“:j 28.5
$ 157 &
M16X2 $192 55y TRE
Té;é;—h ; HFEIA—A Clamping Parts
) #1180 _Cross section A-A_
Supply port (for outer cyl.) 3 ‘
I = [—A 12
g ===t i S
. A O (R ol
o 4 @ o
thl= : w i
i == | - o1
- |
S ol A & S o s
T—JIVTE
18h7. 15,1115 Table T-slot Grooves
196 131 230 246 _—
102 198 237 327 128 361
864 489

JYVHERE  ERRVRRO-Y EZ L34 Piston thrust (kN) HRBATES o
inner (dia.)of cyl.  Piston st)rcke ZEEF] Air pressure 0.5MPa ZE[EF] Air pressure 1.0MPa Max.a\low;gl; a;r pressure Mass
mm; 2,

Y
(mm) # Push 3| Pull # Push 3| Pull (kg)

F—h&
Cylinder Number of ports

ZE3R—b

NY1312T18B Air: 3-port

TW182 CRESNER) > 511#8] [Hydraulic outer cylinder spec.]

R P07 5 i AERIL
Tilting axis centre $40.5 Table surface Hex bolt

/ M16 X65
5. \%
=z

St17,, 45
m.j—f
=

131
T

MAX 96

30

[Te)
QL INL N,
[aV) p—
1 8 ' 8165 24| 48] '+ 30
9 8 h i
- h [ ] \
7 el 285 |
490
M16X2 $120 950 7RE
Rcl/4 FA—A Clamping Parts
SR~ 180 ion A-
(1)~ 4 ) [ Cross section A-A
Supply port (for outer cyl.) ﬁ A ‘
S| e - 12
I 1) 1
: B F o,
1~ = e =
E P OF s l of
8 g ) 8 | e
o 4 5 I 21
y ‘% -
& ol A & S F—ITH
_||[18h7 115 | 115 Table T-slot Grooves
196 131 230 246
102 198 237 327 128 361
864 489

WHENERS Y > #114F Hydraulic outer cylinder spec.
JYVHARE  ERrvRrO—4  EARV#EFPistonthrust (kN)  samcmES [T ]
innerdia.)af cyl.  Pistonstroke  ME7] Hydraulic pressure 3.5MPa Max.allawamephy)d.pressure l\?ass
mm,

Syvs
(mm) 8 Push 3| Pull a kg)

R— b
Cylinder Number of ports

RER—MEEIR-F
NY0912T18A Hyd.:2-port+hir: 1-port 920 12 18.2 171 35 77

# 1L EENRTAGFANUCHAR T, I E—2MIARDIZE TEDRRD T ENBYE T, 208 ) FEUHEARIF > 2\ FH180H 52001 EHY Y,
3% 1.The above dimensions are the same as FANUC spec. Those dimensions may vary from motor to motor that is mounted. 2. In outer cylinder mounting spec., centre height varies to 200 from 180.




